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Q.No.1 

(1)        Data classified by attributes is called:- 

(A) Quantitative data (B) Qualitative data (C) Discrete data (D) Continuous data  

(2)       A constant can assume:- 

 (A) Only one value (B) More than one values   (C) Different values    (D) No value at all 

(3)       Statistical Laws are true for:- 

(A) Long term  (B) Short term  (C) Medium term (D) None of these  

(4)       The data obtained from college record is:- 

(A) Primary   (B) Raw  (C) Secondary  (D) Qualitative 

(5)       The size of a class is also called:- 

(A) Class interval  (B) Class frequency (C) Class mark (D) Class boundary 

(6)       An Ogive is a:-   (A) Frequency Polygon  

 (B) Cumulative Frequency Polygon      (C) Frequency Curve    (D) Histogram 

(7)      ____ is based on all observations. 

(A) A.M.   (B) Median  (C) Mode  (D) None of these 

(8)      The sum of squared deviations is least from:- 

(A) Median   (B) Mean  (C) H.M.  (D) G.M. 

(9)      The notation for Median is:- 

(A) X    (B) X
~

   (C) x̂    (D) wX  

     (10)      If Laspeyre’s Index = 116 and Paasche’s Index = 110, then Fisher’s Index is equal to:-  

    (A)  110   (B)  116  (C)  113  (D)  112.96 

     (11)      The most suitable average for index number is:- 

      (A)  A.M.   (B) G.M.  (C) Median  (D) Mode 

     (12)     If all the values are of equal importance, the index numbers are:- 

     (A) Weighted  (B) Composite  (C) Unweighted (D) Value index 

     (13)     When a coin and a die are rolled together then the possible outcomes are:- 

     (A)  6   (B)  2   (C)  12   (D)  36 

    (14)     The probability of an event always lies between:- 

     (A)   – 1 and 0  (B)   0 and 1  (C)   – 1 and + 1 (D)  More than 1 

    (15)     If three coins are tossed then the probability of at least one head is:- 

     (A)  
8

7
   (B) 

8

2
   (C) 

8

3
   (D) Zero 
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